The answer was 1 chocolate.

What was the question?

The answer was 2 brownies.
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What was the question?




The answer was 3 cakes.
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What was the question?

The answer was 4 lollipops.
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What was the question?




The answer was 5 donuts.

What was the question?

The answer was 6 ice creams.
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What was the question?
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The answer was 7 jellys.
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What was the question?

The answer was 8 cupcakes
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What was the question?




What was the question?

The answer was 10 candies.
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What was the question?
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The answer was 11 ice creams.
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What was the question?

The answer was 12 candies.
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What was the question?




The answer was 13 white chocolates.
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What was the question?

The answer was 14 donuts.
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What was the question?
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The answer was 15 cheesecakes.

What was the question?

The answer was 16 crepes.
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What was the question?
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The answer was 17 macaroons.
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The answer was 19 pancakes.
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What was the question?

The answer was 20 shortcakes.
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What was the question?
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